S R FFA R —ERELIBIE

S series helical-worm gear units

..........

102



B;

#h
SRINARKIT AR

S..Y..

JE B A T 2 4 B - 1R 3 R AT R AL
The shaft of feet stretched installation helical — worm
gear and worm reducer.

SAT. .. Y.. i
w3 T O R R R TR IR AT ROR ML
Turn the hollow shaft with arms armor installation
helical — worm gear and worm reducer.

SW...VY..
TIOR3 R0 R dR AT RO ML

Hollow shaft installed helical — worm gear and
worm reducer.

S(SF. SA. SL. SAZ)S...

i A ARG 1R 2 SR AT R AN

The input shaft helical — worm gear and worm
reducer.

SAZ...Y..

IVEZ 20 R B RHE- 1R IR AT RO
Small flange hollow shaft installed helical — worm
gear and worm reducer.

SA(S, SF. SL. SAZ)...R...Y...

HE AR IR IRAT BUE A

Combined — type helical — worm gear and worm
reducer

SF...Y..

% Z R % A RHE- IR 5 IR AT BUE AL
Flange axle stretch type installation helical — worm
gear and worm reducer.

SA(S. SF. SL. SAZ)S...R...

A EE AR IRE R AT R AL

The input shaft combined helical — worm gear and
worm reducer.

SL...Y..

B ZF IR P IR R tR AT R AL
Flange hollow shaft installed helical — worm gear
and worm reducer.

UL
il

Ll L)

SA(S. SF. SL. SAZ)...ZP (63, 71, 80...)
B A BRSERENNF IR L=
Motor or special motor with user when connecting
flange to add.

103




B;
A
1. SRIIFHER - SR RN

1.1 BHG R TR A 2 A, S5 0958, o ok
1.2 “F % % F . J # Lk 23.8-67.87E 77%;
3897£62%; S/IRAGAEST%.

73.7-

2. SRIIBIS MK R R iR

S A 67 —291—Y

1 L

SE 4 BLE
S series Size of gear units
YT A N

Mounting mode Normal ratio

1. S series helical-worm reducer overview

1.1 Helical gear combline with worm, structure tight, ratio
large.

1.2 When ratio is 23.8-67.8, average efficiency is 77%;
when ratio is 73.7-389, average effciency is 62%; Average
efficiency of S/R combination is 57%.

1.3 The worm is levoratatory.

2. S series model expressing example

1.5 A — H1

HLHL T R (kW)

Motor power

T A
Mounting position

LT 4 H A BB XU ) iy HES
A or B-single output shaft;

S-double output shaft

AL L Y (Y2)

Electrical machinery
code number

Bk YB

Hilsh YEJ

ARSEENL YP

Ordinary (renewal) Y (Y2)

Guards against explosions YB

Applies the brake YEJ

Frequency conversion YP

AR HEAL YPES

Frequency conversion brake YPEJ

el YR
The metalluray lifts heavy objects YR

WIEHENL YG
Table YG

ZHHHL YD
Multispeed YD

*U g AL

6 B S &R B R UG HE — i Fe s AT ek T8 H AL R S
55 RS I, 0 200 B B R R A R R AR (L R K
YV R K R HL T R . Al R B ) 25 A R A
T TAEBRERUR N B B TAEAR B o Lan SR A5 gk 35 AL 119

3. Outline of type selection:

One must be clear about the usage parameters fz(See com-
bination type table), output speed and power of different
types motor in selection. The usage parameters give a com-
prehensive explanation of machine tools' performance. The

s g A, A T AR BEHLE S b A6 7 R 2 actual usage parameter of machine tools fBL should be less
fou (WL T &) W/ T+ £ than fsin order to make the gear wear well.
i R BOEFE U fou<fa The point of usage parameter selection: faL<fs
NN — . "
i 95k T2 HL AL B e j(jt RREEES fs: the max permissible usage parameter of motor
for LA BEAL A 5 b A8 R 2 fsL: the actual usage parameter of machine tools
fBL
tﬂil_ﬁﬂj‘lﬂj VY /s J\/N RAYAL iy TN
Running hours per day 4 hours 8 hours 16 hours 24 hours
REN R PR <10 10200 <200 | <10 10-200 <200 | <10 10200 <200 | <I0 10-200 <200
tart-up times per hour
By B 1 - 08 1 09 1 11 111 12 | 12 13 15
ven load [
LA 11
Bl 1L 13 112 13 | 12 14 15 | 14 15 1.6
A 1T
E’\I%O{llfm lo%%lﬁk 1.3 1.4 1.5 1.4 1.5 1.6 1.5 1.6 1.7 1.6 1.7 1.8

104



B;

Bh
4. ZBISHIR 4. Type selection parameter table
WHEE HHE Lotk FRARHE MBS WE | WmHEEWHAE £t EREH HNERS REL
r/min Nm i fe Type p r/min Nm i fs Type p
0.18kW 0.18kW
0.30 2563 4606 0.84 9.5 109 146.84 1.47
0.36 2394 3872 0.90 10 102 137.25 1.57
0.40 2579 3475 0.83 12 88 118.64 1.82
0.48 2515 2905 0.85 14 75 100.80 2.14
0.54 2239 2586 0.96 S 87R 4 15 67 90.00 2.40 S 47 4
0.60 2021 2335 1.06 7R57 18 57 76.88 2.80
0.68 1778 2054 0.21 19 53 72.00 2.99
0.76 1579 1824 1.36 23 45 60.65 3.56
0.85 1412 1631 1.52
9.1 113 152.00 0.80
0.99 1215 1404 0.98 11 96 129.41 0.89
11 1078 1245 1.11 12 83 111.58 1.03
13 om0 1300 105 13 77 104.00 1.10
15 a6 952 Tae 15 67 90.91 1.26
17 725 837 165 S 77R37 4 16 63 85.22 1.34
Yo 5o 5/ s 18 56 75.20 1.52
IS o L 21 49 66.67 1.72
: : 25 42 56.67 2.02
24 497 574 2.4 27 45 52.00 1.89
1 45.4 2.1
17 600 809 0.81 58 e e  os S 87 4
2.0 528 712 0.93 37 33 37.60 261
23 532 615 0.92 42 29 33.33 2.95
26 470 543 104 § 67R37 4 49 25 28.33 3.47
30 406 469 1.20 59 23 23.46 3.66
33 367 424 1.33 74 19 18.85 456
38 316 365 1.55 84 16 16.48 5.21
90 15 15.45 5.56
3.2 325 438 0.87 102 13 13.63 6.30
3.6 336 388 0.84 115 12 12.08 7.1
a1 291 336 0.97 135 10 10.27 8.37
47 255 294 1.11
52 233 269 121 S 57R17 4 0.25kW
g-; } 33 ggi ] -gg 0.48 2495 2905 0.86
68 1 204 1% 0.54 2291 2586 0.96
: : 0.60 2406 2335 0.89
47 182 204 0.88 8'?2 ope e 8'32 S 87R57 4
54 191 257 0.84 : :
0.85 1961 1631 1.09
6.1 198 229 0.81 S 47R17 4 15 1118 930 1o
70 173 200 0.92 : :
37 276 22720 1.77 ] ? ]égg gg§ 1%
41 249 20511 1.96 T 858 vt 139
4.7 219 180.46 2.23 S 67 6 : :
oo 507 1040 P 2.2 766 637 156 S 77R37 4
2.4 690 574 173
43 238  196.21 1.18 2.8 600 499 1.99
47 219  180.40 1.29
55 187  154.35 1.51 S 57 6 g g ggg igg 82;
6.4 182 13379 1.74 - -
3.3 510 424 0.96
3.8 439 365 111 S 67R37 4
71 146 196.21 1.94 0e oa s T
77 134  180.40 2.11 P e o i
90 115  154.35 2.46 S 57 4 8 :
104 99 133.79 2.84 " . oon 080
51 204  168.00 0.81 5.2 323 269 0.87
57 182  150.00 0.88 6.1 275 229 1.02
58 178  146.84 0.90 s a7 6 3-3 3‘2‘2 fgi ];g S 57R17 4
62 167  137.25 0.96 : :
72 144 11864 111 84 198 165 1.42
11 158 131 1.79
o7 o om
70 147 197.73 1.09 S 47 4 31 456 205.11 .07
83 125  168.00 1.28 36 401 18046 122 g g7 8
4.5 320 144.00 1.53

BRI AIMERERSTE114T1 2123 E &, The appearance of reducer installation dimensions in 114 to 123 page search page.

105



0y

R mHASE 3t FERARYE HBES wmE | WHEESHASE etk ERARH MBS R
r/min Nm i fs Type p r/min Nm i fs Type p
0.25kW 0.37kW
3.7 383 227.20 1.28 0.68 2611 2054 0.82
4.1 346 205.11 1.41 0.76 2318 1824 0.92
47 304 180.46 1.61 0.85 2488 1631 0.86
5.0 287 170.40 1.70 S 67 6 1.5 1655 930 1.29 S 87R57 4
5.9 243 144.00 2.01 1.7 1479 831 1.45
6.1 234 227.20 2.09 1.9 1271 714 0.94
6.8 211 205.11 2.31 2.2 1134 637 1.05
7.7 186 180.46 2.63 2.4 1021 574 1.17
8.2 176 170.40 2.78 2.8 888 499 134 S 77R37 4
9.7 148 144.00 3.30 S 67 4 3.2 779 438 1.53
11 134 130.00 3.65 3.6 692 389 1.72
12 118 114.38 415
13 111 108.00 4.39 3.8 557 365 0.88
4.4 568 319 0.86
43 331 19621 085 49 500 281 008 S 67R37 4
4.7 304 180.40 0.93 5.7 438 246 1.12
5.5 260 154.35 1.08 S 57 6
6.4 225 133.79 1.25
6.8 211 125.05 1.34 3.0 702 222.00 3.03
3.4 627 198.00 3.42 s 87 8
7.1 202 196.21 1.39 4.0 527 166.43 4.07
7.7 186 180.40 1.52
9.0 159 154.35 1.77 2.8 763 241.09 1.57
10 138 133.79 2.05 3.3 652 206.04 1.83
11 129 125.05 2.19 S 57 4 3.5 598 188.89 2.00
- 111 10809 253 40 524  165.75 228 S 77 8
15 95 91.84 2.98 4.3 497 157.08 2.40
17 85 82.00 3.34
3.9 544 227.20 0.90
7.0 204 197.73 0.81 4.3 491 205.11 1.00
8.3 173 168.00 0.92 4.9 432 180.46 1.13 s 67 6
9.3 155 150.00 1.04 5.2 408 170.40 1.20
9.5 151 146.84 1.06 6.1 345 144.00 1.42
10 141 137.25 1.13
12 122 118.64 1.31 6.1 347 227.20 1.41
14 104 100.80 1.54 6.8 313 205.11 1.56
15 93 90.00 1.73 S 47 4 7.7 275 180.46 1.78
18 79 76.88 2.02 8.2 260 170.40 1.88 s 67 4
19 74 72.00 216 9.7 220 144.00 2.23
23 63 60.65 256 11 198 130.00 2.47
23 71 59.32 204 12 174 114.38 2.80
28 61 50.40 2.64
31 54 45.00 2.96 5.7 370 154.35 0.81
6.6 321 133.79 0.88
13 107 104.00 0.81 71 300 125.05 0.94
15 94 90.91 0.91 8.2 259 108.09 1.09 S 57 6
16 88 85.22 0.97 9.6 220 91.84 1.28
18 77 7520 1.10 10.8 196 82.00 1.44
21 69 66.67 1.24
o5 58 56.67 1.46 71 299 196.21 0.94
57 63 52.00 136 7.7 275 180.40 1.02
33 51 42 61 166 10 204 133.79 1.38
37 45 37.60 188 11 191 125.05 1.48
42 40 33.33 2.12 S 37 4 13 165 108.09 1.71 S
49 34 28.33 250 15 140 91.84 2.01 57 4
59 32 23.46 564 17 125 82.00 2.25
74 26 18.85 308 20 107 70.04 2.64
84 23 16.48 375 21 119 66.89 2.37
90 21 15.45 4.00 22 111 62.53 2.53
s 17 1208 512 10 200 13725 080
135 14 10.27 6.02 12 181 118.64 0.88
14 154 100.80 1.04 S 47 4
15 137 90.00 1.17
18 117 76.88 1.36

BRI AIMERERTE114T18123TTEE K, The appearance of reducer installation dimensions in 114 to 123 page search page.
106



WHEE e etk EFRARHE MBS mE | HHEREWGHAE &3tk FEREH MNES HE
r/min Nm i fs Type p r/min Nm i fs Type p
0.37kW 0.55kW
19 110 72.00 1.46 3.7 859 241.09 1.39
23 93 60.65 1.73 4.3 734 206.04 1.63
23 106 59.32 1.52 47 673 188.89 1.78 s 77 8
28 920 50.40 1.78 5.3 590 165.75 2.02
31 80 45.00 2.00 5.6 559 157.08 2.13
36 68 38.44 2.34
39 64 36.00 2.50
46 54 3033 296 S 47 4 5.8 547 241.09 2.18
50 56 5774 o84 6.7 467 206.04 2.56 s 77 4
54 53 2593 303 7.4 428 188.89 2.79
Sg gg fg:gl if; 6.1 515 22720  0.95
: 6.8 465 205.11 1.05
82 35 17.00 4.63 7.7 409 180.46 1.20
8.2 386 170.40 1.27
21 102 66.67 0.84 9.7 326 144.00 1.50
25 86 56.67 0.98 11 295 130.00 1.66
27 93 52.00 0.92 12 259 114.38 1.89 S 67 4
31 81 45.45 1.05 13 245 108.00 2.00
33 76 42.61 1.12 15 208 91.96 2.35
37 67 37.60 1.27 17 189 83.57 2.58
42 59 33.33 1.43 19 164 72.39 2.98
49 50 28.33 1.69 s 37 4 21 172 65.00 2.84
59 48 23.46 1.78
74 38 18.85 2.22 9.6 327 91.84 0.86
84 34 16.48 2.54 1y 292 82.00 0.97
90 31 15.45 571 13 251 70.40 1.12
13 278 66.89 1.01
2 28 13& 307 i 0 6 106 S 57 6
: ) 16 225 54.05 1.26
135 21 10.27 4.07 10 o1 15 0o a8
22 170 41.00 1.66
0.55kW 25 146 35.20 1.3
10 2517 1332 0.85 9.0 350 15435  0.81
1.2 2475 1191 0.87 10 303 133.79 0.93
1.3 2840 1032 0.92 11 284 125.05 0.99
1.5 2460 930 0.87 13 245 108.09 1.15
17 2198 831 0.97 15 208 91.84 135
1.9 1902 719 1.13
S 87R57 4 17 186 82.00 1.52
2.2 1651 624 1.30 20 160 70.40 177
3.2 1151 435 1.86 20 165 62.53 1.70
26 143 54.05 1.97
2.8 1320 499 0.90 30 121 45.92 232 S 57 4
3.2 1159 438 1.03 34 108 41.00 2.60
3.6 1029 389 1.16 40 93 35.02 3.04
4.3 865 327 138 S 77R37 4 42 87 32.80 3.25
4.8 764 289 1.56 46 91 30.12 3.10
5.6 661 250 1.81 53 79 26.11 3.57
57 74 24.40 3.82
57 558 246 0.88 66 64 21.09 4.42
6.3 585 221 0.84
7.0 524 198 093 S 67R37 4 18 174 76.88 0.92
8.3 444 168 1.10 19 163 72.00 0.98
23 138 60.65 1.16
3.0 1044 222.00 2.05 23 157 59.32 1.02
3.4 931 198.00 2.30 S 87 8 28 133 50.40 1.20
4.0 783 166.43 2.74 31 119 45.00 1.34
36 102 38.44 1.57
39 95 36.00 1.68
4.0 791 222.00 2.71 46 80 30.33 1.99 s 47 4
45 705 198.00 3.04 50 84 27.74 1.91
5.3 593 166.43 362 S 87 6 54 78 25.93 2.04
62 68 22.41 2.36
73 58 19.04 2.78
3.3 969 206.04 1.23 82 51 17.00 3.11
35 888 188.89 1.34 96 44 14.52 3.65
4.0 780 165.75 1.53 S 77 8 102 41 13.60 3.89
4.3 739 157.08 1.62 121 35 11.46 4.62

BRI AIMERERSTE114T1 2123 E &, The appearance of reducer installation dimensions in 114 to 123 page search page.
107



B;
#h

WHEESHASE 3k FERRYE MBS wRE | HHEESHHAE L3tk FREH MBS RE
r/min Nm i fs Type p r/min Nm i fs Type p
0.55kW 0.75kW
42 88 33.33 0.96 6.8 634 205.11 0.80
49 75 28.33 1.13 7.7 558 180.46 0.88
59 71 23.46 1.20 8.2 527 170.40 0.93
74 57 18.85 1.49 9.7 445 144.00 1.10
84 50 16.48 1.71 s 37 4 11 402 130.00 1.22
90 47 15.45 1.82 12 354 114.38 1.38
102 4 13.63 2.06 13 334 108.00 1.46
115 37 12.08 2.33 15 284 91.96 1.72
135 31 10.27 2.74 17 258 83.57 1.89 S 67 4
19 224 72.39 2.18
0.75kW 21 234 65.00 2.09
22 195 63.00 2.51
1.1 4411 1223 0.85 24 206 57.19 2.37
1.3 3860 1070 0.97 26 195 54.00 2.51
1.5 3347 928 1.12 30 166 45.98 2.95
1.7 2972 824 1.27
1.9 2575 714 146 S 97R57 4 13 331 70.04 0.85
22 2258 626 1.67 14 369 66.89 0.80
g-g ]3:(15 igi 12-924 15 345 62.53 0.82 s 57 5
: : 17 298 54.05 0.95
19 2659 02 081 22 26 410 125
) 2396 . : :
1.7 2569 831 0.83
19 2503 719 0.83 13 334 1018.09 0.84
2.2 2251 624 095 g g7R57 4 1? ggi gz-gg ?-?51’
25 2013 558 1.06 : :
35 1569 435 137 20 217 70.04 1.30
4.3 1165 323 1.84 21 241 66.89 1.7
22 226 62.53 1.25
4.3 1179 327 1.01 26 195 54.05 1.45
4.8 1042 289 1.15 30 166 45.92 1.70
5.6 902 250 1.32 S 77R37 4 34 148 41.00 1.91
6.3 790 219 1.51 40 126 35.02 2.23
42 118 32.80 2.38 S 47 4
3.0 1457 230.48 2.58 46 124 30.12 2.27
3.3 1311 207.48 2.87 S 97 8 53 108 26.11 2.62
3.6 1187 187.89 3.17 57 101 24.40 2.80
66 87 21.09 3.24
4.1 1048 222.00 2.04 Z? gg ]g;gﬁ 2:2;
46 935 198.00 2.29 S 87 6 102 56 13.67 5.00
5.5 786 166.43 2.73
31 162 45.00 0.99
6.2 690  223.26 3.10 36 139 38.44 1.15
39 130 36.00 1.23
7.0 612 198.00 3.50 s 87 4 16 109 30.33 126
8.4 515 166.43 4.16 : :
50 114 27.74 1.40
54 107 25.73 1.50
3.8 1139 241.09 1.05 62 92 22.41 1.73 S 47 4
4.4 973 206.04 1.23 73 78 19.04 2.04
4.8 892 188.89 1.34 S 77 6 82 70 17.00 2.28
5.5 783 165.75 1.53 96 60 14.52 2.67
102 56 13.60 2.85
5.8 745 241.09 1.60 121 47 11.46 3.39
6.7 637 206.04 1.87
7.4 584 188.89 2.04 74 78 18.85 1.09
8.4 512 165.75 2.33 84 68 16.48 1.25
8.8 486 157.08 2.46 s 77 4 90 64 15.45 1.33
10 425 137.48 2.81 102 56 13.63 1.51 S 37 4
11 383 123.86 3.12 115 50 12.08 1.71
13 336 108.65 3.55 135 45 10.27 201

BRI AIMERERTE114T18123TTEE K, The appearance of reducer installation dimensions in 114 to 123 page search page.
108



B;
#h

WHERE WHAEE FEtt EAREY MBS RY | HHBEFEFRHEE 3 EARYE NES BB
r/min Nm i fs Type p r/min Nm i fs Type p
1.1kW 1.1kW
17 4328 824 0.87 20 315 70.04 0.89
2.0 3750 714 1.00 21 351 66.89 0.80
2.2 3288 626 1.14 22 328 62.53 0.86
2.6 2826 538 133 S 97R57 4 26 284 54.05 0.99
2.9 2542 484 1.48 30 241 45.92 1.17
3.3 2206 420 1.70 34 215 41.00 1.31
40 184 35.02 1.53
2.2 2341 624 0.92 43 172 32.80 1.64
2.5 2512 558 0.85 46 181 30.12 1.56
2.9 2547 485 0.84 54 157 26.11 1.80 s 57 4
32 2285 435 0.94 57 146 24.40 1.93
3.7 1985 378 1.08 66 127 21.09 2.23
4.3 1697 323 126 S 87R57 4 78 108 17.92 2.62
5.0 1476 281 1.45 88 96 16.00 2.94
5.5 1339 255 1.60 102 82 13.67 3.44
6.3 1166 222 1.84 109 77 12.80 3.67
6.8 1077 205 1.99 130 65 10.78 4.36
46 182 30.33 0.88
6.4 1150 219 104 § 77R37 4 50 167 27.74 0.96
54 156 25.93 1.03
62 135 22.41 1.19
74 114 19.04 1.40
30 2136 23048  1.76 82 102 17.00 157 S 47 4
3.3 1923 207.48 1.96 96 87 14.52 1.84
36 1742 18789 216 S 97 8 103 82 13.60 1.96
122 69 11.46 2.33
3.9 1596 230.48 2.36
4.4 1437 207.48 2.62 S 97 6 1.5kW
4.8 1301 187.89 2.89 2.0 4383 714 0.86
22 4484 626 0.84
2.6 3853 538 0.98
. 222 00 214 29 3467 484 1.08
3_? gg? 198.00 2.40 3.3 3008 420 125 S 97R57 4
8.4 749 166.43 2.86 S 87 4 3.7 2693 376 1.40
9.2 689 152.95 3.11 4.3 2342 327 1.61
10.3 612 135.83 3.50
2.9 2481 485 0.86
5.8 1085 241,09 1.10 8.2 2225 435 0.96
6.8 928 206.04 1.29 3.7 2707 378 0.79
7.4 850 188.89 1.40 4.3 2313 323 0.93
8.4 746 165.75 1.60 2(5’ fg;g gg; 1-?673 S 87R57 4
?‘3 2% 12;:22 1 :gg s 77 4 6.3 1590 222 1.35
11 558 123.86 2.14 638 1468 205 1.46
1 2 222 19058_5685 2:;‘; 3.0 2871  230.48 1.31
3.3 2584  207.48 1.45
11 585 13000  0.84 3.7 2340 187.89 161 S 97 8
12 g 114.38 0.95 4.1 2076  166.62 1.81
1 g 3?2 190189060 1 '?:3 4.0 2153  230.48 1.75
17 376 8357 1'30 4.4 1938 207.48 1.94
19 326 739 150 4.9 1755 187.89 2.14 S 97 6
' : 5.5 1557  166.62 2.42
22 341 65.00 1.43
3421 ggg gg'?g %g S 67 4 6.1 1415  230.48 2.66
: : 6.7 1274 207.48 295 g g7 4
26 284 54.00 172 7.5 1154  187.89 3.26
30 242 45.98 2.02 : : -
34 220 4179 2.23
39 190 36.20 2.57 4.1 2074  222.00 1.03
44 165 31.50 2.96
53 139 26.40 353 4.6 1850 198.00 116 g 87 6
: : 5.5 1555  166.43 1.38
6.0 1429  152.95 1.50

BRI AIMERERSTE114T1 2123 E &, The appearance of reducer installation dimensions in 114 to 123 page search page.
109



B;
#h

WHEERSHASE 3k FERRYH YNBSS wRE | HHEESHHAE L3tk FREH MBS RE
r/min Nm i fs Type p r/min Nm i fs Type p
1.5kW 2.2kW
6.3 1363 222.00 1.56 3.4 4350 420 0.86
71 1216 198.00 1.76 3.8 3894 376 0.97
8.4 1022 166.43 2.10 4.3 3387 327 1.11 S 97R57 4
9.2 939 152.95 2.28 4.9 2972 287 1.26
10 834 135.83 257 S 87 4 5.6 2610 252 1.44
12 746 121.44 2.87
13 670 109.19 3.20
15 582 94.77 3.68 4.1 3091 230.48 1.22
45 2782 207.48 1.35 S 97 6
7.4 1160 188.89 1.03 5.0 2520 187.89 1.49
8.4 1018 165.75 117
8.9 964 157.08 1.24 6.2 2046 230.48 1.84
10 844 137.48 1.41 6.8 1842 207.48 2.04
11 760 123.86 157 7.6 1668 187.89 2.25
13 667 108.65 1.79 8.5 1479 166.62 2.54
15 589 95.88 2.03 9.4 1337 150.64 2.81 s 97 4
16 502 85.00 299 11 1133 127.68 3.32
18 564 78.78 2.12 s 77 4 13 990 111.52 3.80
19 517 7900 239 15 828 93.27 4.54
25 454 63.38 263 17 863 83.31 4.36
23 430 60.06 278
27 377 52 57 317 6.4 1971 222.00 1.08
30 339 4736 3.52 7.2 1758 198.00 1.22
34 208 4154 401 8.5 1477 166.43 1.45
9.3 1358 152.95 1.58
17 513 83.57 0.95 10 1206 135.83 1.78
12 1078 121.44 1.99
19 444 72.39 1.10 by 969 108,18 01
22 466 65.00 1.05 15 841 9477 55
22 387 63.00 1.26 17 753 84.86 584 S 87 4
24 410 57.19 1.19 19 783 75.63 2.74
26 387 54.00 1.26 20 625 70.40 3.43
30 329 45.98 1.48 51 700 67.62 3.06
34 299 41.79 1.63 53 630 60.80 3.40
39 259 36.20 1.89 27 547 52.77 3.92
44 226 31.50 217
53 216 26.40 2.26 S 67 4 10 1220  137.48 0.98
59 195 23.83 2.51 11 1100  123.86 1.09
67 171 20.92 2.86 13 965 108.65 1.24
4 162 19.80 3.02 15 851 95.88 1.40
83 138 16.86 3.54 17 755 85.00 1.58
N 125 15.32 3.90 18 816 78.78 1.46
106 109 13.27 4.50 20 748 72.22 1.60
121 95 11.55 5.17 22 656 63.38 1.82
24 622 60.06 1.92
43 235 32.80 1.20 27 544 52.57 2.19
46 247 30.12 1.14 30 491 47.36 2.43 S 77 4
54 214 26.11 1.32 34 430 4154 2.78
57 200 24.40 1.41 39 380 36.66 3.14
66 173 21.09 1.63 44 337 32.50 3.55
78 147 17.92 1.92 S 57 4 51 287 27.75 415
88 131 16.00 2.15 55 307 25.93 3.89
102 112 13.67 252 62 269 22.75 4.43
109 105 12.80 2.69 66 255 21.56 4.68
130 88 10.78 3.20
31 476 45.98 1.03
96 119 14.52 1.35 34 433 41.79 1.13
103 111 13.60 1.44 s a7 4 39 375 36.20 1.30
122 94 11.46 1.71 45 326 31.50 1.50
54 312 26.40 1.56
60 282 23.83 1.73
68 248 20.97 1.97
72 234 19.80 2.09 S 67 4
84 200 16.86 2.45
93 181 15.32 2.70
107 157 13.27 3.11
123 137 11.55 3.58

BRI AIMERERTE114T18123TTEE K, The appearance of reducer installation dimensions in 114 to 123 page search page.
110



B;

HAh

WHERERSHAE Lk FRRYE VES REY | SHEEWHEE Ehit FRERHE MBS RE
r/min Nm i fs Type p r/min Nm i fs Type p
2.2kW 3kW
89 189 16.00 1.49 39 511 36.20 0.96
104 162 13.67 1.74 45 445 31.50 1.10
111 152 12.80 1.86 S 57 4 54 426 26.40 1.15
132 128 10.78 2.21 60 385 23.83 1.27
68 338 20.97 1.44
3kW 72 320 19.80 1.53 S 67 4
84 272 16.86 1.80
93 247 15.32 1.98
107 214 13.27 2.28
4.9 4053 287 093 S 97R57 4 123 186 11.55 2.62
104 221 13.67 1.28
6.2 2790 230.48 1.35 111 207 12.80 1.36 s 57 4
6.8 2512 207.48 1.50 132 174 10.78 1.62
7.6 2275 187.89 1.65
8.5 2017 166.62 1.86
9.4 1824 150.64 2.06
11 1546 127.68 2.43 s o7 4 4kW
13 1350 111.52 2.79
15 1129 93.07 333 6.2 3668 230.48 1.02
7 n7  sasl 320 °F  som  daree 126
8 978 80.75 3.85 8.6 2652 166.62 1.42
85 2015 166.43 1.06 9.6 2398 150.64 1.57
9.3 1852 152.95 1.16 1 2032 127.68 1.85
13 1775 111.52 2.12
10 1644 135.83 1.30 s 1488 93 o 583 s 97 4
12 1470 121.44 1.46 b 1547 83,31 543
13 1322 109.19 1.62 18 1285 80.75 593
15 147 94.77 1.87 19 1399 75.32 2.69
17 1027 84.86 2.09 23 1185 63.84 317
19 1068 75.63 2.01 o6 1035 5576 263
20 852 70.40 2.51 S 87 4
21 955 67.62 2.24 12 1933 121.44 1.11
23 859 60.80 2.50 13 1738 109.19 1.23
27 745 52.77 2.88 15 1508 94.77 1.42
30 667 47.25 3.21 17 1351 84.86 1.59
33 696 43.13 3.08 19 1404 75.63 1.53
36 554 39.20 3.87 20 1121 70.40 1.91
37 617 38.25 3.47 21 1256 67.62 1.71
42 481 34.09 4.45 24 1129 60.80 1.90
27 980 52.77 2.19
17 1029 85.00 1.16 30 877 47.25 2.44
18 1113 78.78 1.07 33 915 43.13 2.34 s 87 4
20 1020 72.22 1.17 37 728 39.20 2.94
22 895 63.38 1.33 38 812 38.25 2.64
24 848 60.06 1.41 42 633 34.09 3.39
27 742 52.57 1.61 45 682 32.15 3.14
30 669 47.36 1.79 49 627 29.55 3.42
34 587 41.54 2.04 55 557 26.24 3.85
39 518 36.66 2.31 61 498 23.46 4.30
44 459 32.50 2.60
51 392 27.75 3.05 24 1115 60.06 1.07
55 419 25.93 2.85 S 77 4 27 976 52.57 1.22
62 367 22.75 3.25 30 879 47.36 1.36
66 348 21.56 3.43 35 771 41.54 1.55
75 305 18.87 3.92 39 681 36.66 1.75
84 274 17.00 4.35 44 604 32.50 1.98
95 241 14.91 4.96 52 515 27.75 232
108 212 13.16 5.62 56 550 25.93 2.17
122 188 11.67 6.34 63 483 2275 2.47 s 77 4
123 161 9.96 243 67 458 21.56 2.61
76 400 18.87 2.98
85 361 17.00 3.31
97 316 14.91 3.77
109 279 13.16 4.28
123 248 11.67 4.82
145 211 9.96 5.65

BRI AIMERERSTE114T1 2123 E &, The appearance of reducer installation dimensions in 114 to 123 page search page.

111



B;

1
WHERERSHAE Ktk FRERHE VEES RE | SHEEHHEE Ehit FRERH MBS HRE
r/min Nm i fs Type p r/min Nm i fs Type p
4KW 7.5kW
73 420 19.80 1.16 13 3304 111.52 114
85 358 16.86 1.37 16 2764 93.27 1.36
94 325 15.32 1.50 S 67 4 18 2880 83.31 1.31
109 282 13.27 1.74 18 2393 80.75 1.57
125 245 11.55 1.99 19 2604 75.32 1.44
23 2207 63.84 1.70
26 1928 55.76 1.95
5.5kW 31 1612 46.64 2.33
36 1396 40.38 2.69 s 97 4
8.6 3647 166.62 1.03 40 1438 36.39 2.62
9.6 3297 150.64 1.14 45 1294 32.76 2.91
11 2794 127.68 1.35 49 1172 29.67 3.21
13 2441 111.52 1.54 55 1039 26.31 3.62
15 2041 93.27 1.84 61 940 23.79 4.00
17 2127 83.31 1.77 72 796 20.16 472
18 1767 80.75 2.13 S 97 4
19 1923 75.32 1.96 31 1633 47.25 1.31
23 1630 63.84 2.31 34 1704 43.13 1.26
26 1424 55.76 2.64 37 1355 39.20 1.58
31 1191 46.64 3.16 38 1511 38.25 1.42
36 1031 40.38 3.65 43 1178 34.09 1.82
45 1270 32.15 1.69
17 1857 84.86 1.15 49 1167 29.55 1.84
19 1931 75.63 1.11 56 1037 26.24 2.07 s 87 4
20 1541 70.40 1.39 62 927 23.46 2.31
21 1727 67.62 1.24 69 833 21.09 257
24 1552 60.80 1.38 80 723 18.31 2.96
27 1347 52.77 1.59 89 648 16.39 3.31
30 1206 47.25 1.78 107 537 13.60 3.99
33 1259 43.13 1.70 123 467 11.83 4.59
37 1001 39.20 2.14
38 1116 38.25 1.92 53 959 27.75 1.24
42 870 34.09 2.46 56 1024 25.93 117
45 938 32.15 2.28 S 87 4 64 899 22.75 1.33
49 862 29.55 2.49 68 852 21.56 1.40
55 766 26.24 2.80 77 746 18.87 1.60
61 685 23.46 3.13 86 672 17.00 1.78
68 615 21.09 3.48 08 589 14.91 2.03 S 77 4
79 534 18.31 4.01 111 520 13.16 2.30
88 478 16.39 4.48 125 461 11.67 2.59
106 397 13.60 5.40 147 394 9.96 3.03
122 345 11.83 6.21
35 1061 41.54 1.13 11kW
39 936 36.66 1.28
44 830 82.50 1.44 26 2808 55.76 1.34
52 709 27.75 4.69 31 2349 46.64 1.60
56 757 25.93 1.58 36 2034 40.38 1.85
63 664 22.75 1.80 40 2095 36.39 1.80
67 629 21.56 1.90 45 1886 32.76 1.99
76 551 18.87 2.17 S 77 4 49 1708 29.67 2.20
85 496 17.00 2.41 55 1514 26.31 2.48
97 435 14.91 2.74 61 1369 23.79 275 S 97 4
109 384 13.16 3.11 72 1160 20.16 3.24
123 341 11.67 3.51 83 1014 17.61 3.71
145 291 9.96 4.11 99 848 14.73 4.43
115 734 12.75 5.12
94 447 15.32 1.09 56 1510 26.24 1.42
109 387 13.27 1.26 s 67 4 62 1350 23.46 1.59
125 337 11.55 1.45 69 1214 21.09 1.77
80 1054 18.31 2.03
89 943 16.39 2.27 S 87 4
107 783 13.60 2.74
123 681 11.83 3.15

BRI AIMERERTE114T18123TTEE K, The appearance of reducer installation dimensions in 114 to 123 page search page.
112



0y

WA WS 3ttt ERARY NES R¥ | BHEEHHEE FI3k ERARY MBS KE

r/min Nm i fs Type p r/min Nm i fs Type p
15kW
31 3203 46.64 117
36 2773 40.38 1.36
40 2856 36.39 1.32
45 2571 32.76 1.46
49 2329 29.67 1.61
55 2065 26.31 1.82
61 1867 23.79 2.01 S 97 4
72 1582 20.16 2.38
83 1382 17.61 2.72
99 1156 14.73 3.25
115 1001 12.75 3.76
89 1287 16.39 1.67
107 1068 13.60 2.01 s 87 4
123 929 11.83 2.31
18.5kW
40 3499 36.39 1.07
45 3150 32.76 1.19
50 2853 29.67 1.32
56 2530 26.31 1.49
62 2287 23.79 1.64
73 1938 20.16 104 S 97 4
83 1693 17.61 222
100 1416 14.73 2.65
115 1226 12.75 3.07
22kW
56 3008 26.31 1.25
62 2720 23.79 1.38
73 2305 20.16 1.63
83 2014 17.61 187 g 97 a4
100 1684 14.73 2.23
115 1458 12.75 2,58

BRI AIMERERSTE114T1 2123 E &, The appearance of reducer installation dimensions in 114 to 123 page search page.
113



B;

A
5. SRILEF MR ~TEFR(S37-97) 5. S series mounting position and dimension sheets
5.1 SRFIEKEET 5.1 S series foot-mounted

270
A = E ; I
3 -
(LI IR ol . R
o b

L1 La B [g
Lo _, w W Vi ___Vz_

(- PR T —] |-

SW47-9789D. D1. L. MR8 RSAZ. (B116-117) ./ |
HHEBESOHMMEERM, ITHEEER L

114



#Ah
ne Z ¥ R o W R B R
TYPe | Ho | Ao | Bo | A1 | at | a2 | Lo| do]| d l | b|lc|s|Li|A|[B|W]|h |h2|Hi|H
S37 |80 |63 |90 | 15|35 |40 |63 | 9 | 20k6 | 40 | 6 |22.5| M6 |143| 89 |108|100| 10 | 10 | 0O |143
S47 [100| 80 [100| 15 |35 |35 | 75 | 11 | 25k6 | 50 | 8 | 28 [M10|171|112|120|115| 15 | 12 | 12 | 165
S57 [112]100(110| 19 | 45 |35 | 80 | 11 | 30k6 | 60 | 8 | 33 [M10|187|130|136|134| 15 | 12 | 20 | 189
S67 [140(130[130| 25 | 60 | 40 | 106 [13.5| 35k6 | 70 | 10 | 38 |[M12|241|175|160|160| 20 | 15 | 26 | 236

S77 |11801135|150( 30 | 75 | 70 |125|17.5( 45k6 | 90 | 14 |48.5|M16| 287|204 |185|195( 25 | 25 | 39 | 301

S87 122511801200 ( 35 | 92 | 82 |150| 22 | 60m6 | 120 | 18 | 64 |M20| 340 | 247 | 250 | 255 30 | 30 (41.5]| 368

S97 (280(235(250( 30 |{115| 90 (180| 26 | 70m6 | 140 | 20 (74.5|M20|420|320|300|295| 35 | 35 | 59 | 455

A= Zz & R ~F WM R ~F 5p B R ~F

Type | Lo | Ho | R | Vi | V2 | As b1 C1 d1 L M1 H2 | L1 | W2 | Wi | As | g1

SA37 | 63 | 80 | 3 - - - 6 22.8 | 20H7 | 104 M6x16 | 143 | 143 |62.5| 60 | 90 | 120

28.3 | 25H7
SA47 | 75 | 100 | 25| 35 | 52 | 60 8 105 165 | 171 | 63 | 60 | 94 | 120
33.3 | 30H7 M10x25

8 33.3 | 30H7

SA57 | 82 | 112 | 3 |58.5|58.5( 60 132 189|187 | 78 | 75 | 100 | 120
10 38.3 | 35H7 M12x30
12 43.3 | 40H7

SA67 | 106 | 140 | 3.5 |71.5|80.5( 88 144 | M16x40 | 236 | 241 | 87 | 84 | 128 | 160
14 48.8 | 45H7
14 53.8 | 50H7 M16x45

SA77 | 125|180 | 4 | 85 | 85 | 102 180 301 | 287 | 108 | 105 | 154 | 200
18 64.4 | 60H7
18 64.4 | 60H7

SA87 [ 150 |225| 5 | 115|110 | 118 220 | M20x50 | 368 | 340 | 128 | 125 | 194 | 250
20 749 | 70H7
20 749 | 70H7

SA97 | 180|280 | 5 | 135|113 | 160 260 455 | 420 | 149 | 145 | 236 | 300
25 95.4 | 90H7 M24x60

115




{\é]’g} ﬁ ey

52 S&%E=5L 5.2 S series flange-mounted

SAT..

SAZ..

116



A

e Z & R S B R ~F

Type H1 S1 d B B1 B2 K Ri1 A
SAT37 110 M6x16 10.4£0.1 26 31 36_03 10 21 57
SAT47 130 M8x25 10.4£0.1 20.5 31 36_03 15 21 57.5
SAT57 160 M8x25 10.4£0.1 18.5 31 36_03 15 21 72
SAT67 200 M12x35 | 10.4=0.1 19.5 31 36_03 18 21 80.5
SAT77 250 M12x35 |16.4+0.08 32.5 54 60_03 18 30 101
SAT87 310 M16x45 |16.4+0.08 255 54 60_03 24 30 120
SAT97 380 M16x50 | 25+0.08 33 72 80_03 26 40 140

Z ¥ R ~F S B R ~F
B
L D1 D2 M R | do h2 D
SAz4T7 12 $115 95j6 M8 3 8.5 9 11 130
SAZ57 12 $ 102 80j6 M8 3 8 9 11 120
SAZ67 20 $130 105j6 M12 3.5 9.5 13.5 13 155
SAZT77 — $ 155 125j6 — 4 14.5 M12 18.5 180
SAZ87 - $180 150j6 — 5 18.5 M16 23.5 215
SAZ97 — $220 180j6 — 5 18.5 M16 235 260
HERTSISW

117




53 SRIANEX

Bs

#h

.--.;11‘

22.
Mounting side

Mounting side

H61

SF..
L1 La
Lo _|
SAF..
Wi W1
=

oD2
oD

118

Wo w
I
i I
e _
| =1
g : | =
a —— |
-______... . E— |
IXIEI ||£l_—~_R4L
od
| b1

<nix odo



18
FiE=] 2 ¥ R ~F WM R St s B RS
Tyre | R | Di| D2 | mi|do| 1 | b | d c |Lo| Lt |H |H| D |Wo| W | g1 | Hi
3 | 100 | 80j6 6.6 120
SF37 4 40 | 6 |20k6 |225| 63 | 143 | 82 | 143 57 | 115 |120| 0
3.5 | 130 | 110j6 9 160
SF47 | 35 | 130 | 11066 | 4 | 9 | 50 | 8 |25k6| 28 | 75 | 171 | 100 | 165 | 160 |57.5 [133.5| 120 | 12
SF57 | 35 | 165 | 1306 | 4 | 11 | 60 | 8 |30k6| 33 | 80 | 187 [ 112 | 189|200 | 72 | 160 | 120 | 20
SF67 | 35 | 165 | 1306 | 4 | 11 | 70 | 10 |35k6 | 38 | 106 | 241 | 140 | 236 | 200 |80.5| 190 | 160 | 26
SF77 | 4 | 215|180j6 | 4 |13.5| 90 | 14 |45k6|48.5| 125 | 287 | 180 | 301 | 250 | 121 | 232 | 200 | 39
SF87 | 5 | 300 |250n6| 4 [17.5|120| 18 |60m6| 64 | 150 | 340 | 225 | 368 | 350 | 145 | 290 | 250 |41.5
SF97 | 5 | 400 |350h6| 8 |17.5| 140 | 20 |70m6|74.5| 180 | 420 | 280 | 455 | 450 | 165 | 340 | 300 | 59
e ZER W om R St Sh 2R <F
Type D2 D B di ci b1 R M L W Wi
80j6 120 3
SAF37 15 | 20H7 | 22.8 6 M6X16 104 62.5 60
110j6 160 35
25H7 | 28.3 8 M10x25
SAF47 | 1106 160 24 3.5 105 63 60
30H7 | 33.3 8 M10x25
30H7 | 33.3 8 M10x25
SAF57 | 130j6 | 200 25 35 132 78 75
35H7 | 38.3 10 M12x30
40H7 | 43.3 12 M16x40
SAF67 | 130j6 | 200 425 35 144 87 84
45H7 | 48.8 14 M16x40
50H7 | 53.8 14 M16x45
SAF77 | 180j6 | 250 455 4 180 108 105
60H7 | 64.4 18 M20x50
60H7 | 64.4 18 M20x50
SAF87 | 250n6 | 350 52.5 5 220 128 125
70H7 | 74.9 20 M20x50
70H7 | 74.9 20 M20x50
SAF97 | 350h6 | 450 60 5 260 149 145
90H7 | 95.4 25 M24x60

119




B;

#h

5.4 SRF/NE=K 5.4 K series small flange-mounted

A [y
=i 50" —270"
‘&

8

180°
H5

8] WHED
H

i)

=Y

(=

6

S (SF. SA. SAF. SAZ) S.. S (SF. SA. SAF. SAZ) .R..

SO L
& s
) :mdt I
B = Type d1 L+ l1 S1 ct b1 g
S..S37 16k6 115 40 M5 18 5 120
S..S47 16k6 115 40 M5 18 5 120
S..S57 16k6 115 40 M5 18 5 120
S..S67 19k6 120 40 M6 21.5 6 160
S..S77 24k6 140 50 M8 27 8 200
S..S87 28k6 180 60 M10 31 8 250
S..S97 38k6 220 80 M12 41 10 300
B = Type | BHHES L2 Ls B S Type | BHHES L2 Ls
S..37TR17 Y263.. 175 <208 Y263.. 187 <198
S..47R17 Ya271.. 175 <266 S.87R57 Y271.. 187 <266
S..57R17 Y280.. 175 <272 " Y280.. 187 <272
S.67R37 Y263.. 157 <208 S. 97R57 Y290.. 187 <320
Y271.. 157 <266 Y2100L 187 <350
S.77R37 Y280.. 157 <272 Y2112M 187 <375
Y290.. 157 <320

iE: ERRTES A NES
120



6. E#EE=(S37-897)

B;

#h

—

12

d6 t6 r6 6 L6 L61 D6 D62 D63

S 37 P63 11 13 4 35 83 26 140 115 95
S. 47 P71 14 16 5 35 83 33 160 130 110
S.57 P80 19 22 6 45 103 43 200 165 130
P90 24 27 8 45 103 53 200 165 130

P63 11 13 4 35 83 26 140 115 95

P71 14 16 5 35 103 33 160 130 110

S. 67 P80 19 22 6 45 103 43 200 165 130
P90 24 27 8 45 103 53 200 165 130

P100 28 31 8 110 63 250 215 180

P112 28 31 8 110 63 250 215 180

P63 11 13 4 35 103 26 140 115 95

P71 14 16 5 35 103 33 160 130 110

P80 19 22 6 45 110 43 200 165 130

S.77 P90 24 27 8 45 110 53 200 165 130
P100 28 31 8 110 63 250 215 180

P112 28 31 8 110 63 250 215 180

P132 38 41 10 133 85 300 265 230

P80 19 22 6 45 110 43 200 165 130

P90 24 27 8 45 110 53 200 165 130

P100 28 31 8 5 133 63 250 215 180

S..87 P112 28 31 8 5 133 63 250 215 180
P132 38 41 10 5 133 85 300 265 230

P160 42 45 12 6 171 115 350 300 250

P100 28 31 8 5 133 63 250 215 180

P112 28 31 8 5 133 63 250 215 180

S..97 P132 38 41 10 5 171 85 300 265 230
P160 42 45 12 6 171 115 350 300 250

P180 48 52 14 6 171 115 350 300 250

121




B;

1#h
7. BINHH(S37-S97) 7. Input shaft
- L2
f ———
E
. r
o &
'R
LN 1 4'/:
di E1 L2 r1 t1
S..37 AD1 16 40 115 5 18
S..47
S..57 AD2 19 40 115 6 215
AD2 19 40 120 6 215
S..67
AD3 24 50 130 8 27
AD2 19 40 130 6 215
S.77 AD3 24 50 140 8 27
AD4 38 50 140 10 41
AD2 19 40 160 6 215
AD3 28 60 180 8 31
S..87
AD4 38 80 200 10 41
AD5 42 80 200 12 45
AD3 28 60 200 8 31
AD4 38 80 220 10 41
S..97
AD5 42 80 220 12 45
AD6 48 80 220 14 51.5

122



B;

HAh
8. SIRA&R (S37-S97) 8. Combination of S/R
KB
K
KM
1
) I
27

G K KB KM

Y 63 132 338 395 163

S.37TR17 (Y71 145 339 403 164
Y 80 145 389 453 214

S.47R17 Y 63 132 338 395 163
S::57R17 Y71 145 339 403 164
Y 80 145 389 453 214

Y 63 132 370 427 205

S.67R37 |YT1 145 371 435 206
Y 80 145 421 485 256

Y 63 132 362 419 205

Y71 145 363 427 206

S-TTR37 Y 80 145 413 477 256
Y 90 197 433 518 276

Y 63 132 415 472 199

Y 71D 145 415 479 199

Y 80 145 465 529 249

S-87R57 Y 90 197 485 570 269
Y100M 197 535 620 319

Y 100L 197 565 650 349

Y 63 132 410 467 199

Y 71D 145 410 474 199

Y 80 145 460 524 249

S..97R57 |Y 90 197 480 565 269
Y 100M 197 530 615 319

Y 100L 197 560 645 349

Y 112M 221 565 645 354

123



